CHRISTMAS TREE ADDITION PUZZLE
LEVEL 1

The number in each cell of the Christmas tree is the sum of the two numbers directly below it.
Fill in the missing numbers to complete the Christmas tree.

784
336
160
88 72 168
66 102
35 23 43 59
8 15 28 31
14 9 3 4 11 17 14
2 2 9 8
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CHRISTMAS TREE ADDITION PUZZLE
LEVEL 2

The number in each cell of the Christmas tree is the sum of the two numbers directly below it.
Fill in the missing numbers to complete the Christmas tree.

448
160 | 176 | 272
88 72 104
66 102
35 15 43
23 12 7 15 28 31
14 9 3 4 4 11 14
1 2 2
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CHRISTMAS TREE ADDITION PUZZLE
LEVEL 3

The number in each cell of the Christmas tree is the sum of the two numbers directly below it.
Fill in the missing numbers to complete the Christmas tree.

160
88 72 168
54 38
15 23 43 59
7 15
14 3 4 4 11 14
1 2
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CHRISTMAS TREE ADDITION PUZZLE
LEVEL 4

The number in each cell of the Christmas tree is the sum of the two numbers directly below it.
Fill in the missing numbers to complete the Christmas tree.

784
72 168
34 38 66
23 7 8
4 11 14
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CHRISTMAS TREE ADDITION PUZZLE
LEVEL 5

The number in each cell of the Christmas tree is the sum of the two numbers directly below it.
Fill in the missing numbers to complete the Christmas tree.

784

160

104

168

38

66

35

59

23

14

14
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CHRISTMAS TREE ADDITION PUZZLE
SOLUTION

The number in each cell of the Christmas tree is the sum of the two numbers directly below it.
Fill in the missing numbers to complete the Christmas tree.

784
336 | 448
160 | 176 | 272
88 72 104 | 168
54 34 38 66 102
35 19 15 23 43 59
23 12 7 8 15 28 31
14 9 3 4 4 11 17 14
8 1 2 2 2 9 8
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